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Question Number : 1 Question Id : 4387197681 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Identify the wrong statement regarding ICBN

ICBN 8 ZHodoboc) #8500 TPEED
Options :
Scientific names of plants should be printed in Italics

Twde ok Tired awrds & fulde Baro

The first word represents the genus and second word represents species

5

PauoEth

|

0ES Ho HerdQ Bodsd Bdo =80 IBhETan

;

When hand written. scientific names are separately underlined
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Genus names starts with small letter and species name starts with capital letter
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Question Number : 2 Question Id : 4387197682 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The branch of botany which helps in understanding the course of evolution in plants is
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Options :
Palynology

Horiiten o
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Physiology
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Phytogeography
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Paleobotany
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Question Number : 3 Question Id : 4387197683 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Conduction of water through xylem by root pressure was first observed by
2H Hdo Su ey e 58 $:38m =Sibdodd ok H6400056

Options :
Joseph Priestly
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Question Number : 4 Question Id : 4387197684 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Following is not a common feature in both fems and Gymnosperms
o= . = L 2 = = .
Eelai v Tevey :..aég;ﬁ Dered® Porbndn 30 3=t T

Options :
Presence of Archegonia

=) Sodboss SOR Gor

Circinate vernation

584 Bhead E‘Jrfgéa

Presence of ramenta

TraootT SOR dothin

Presence of ovules
4 monees BER aothi

Question Number : 5 Question Id : 4387197685 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Some plants of the following family have swollen leaf base

208 BitwoerRd Jobi Eﬂ;é&ﬁ:ﬁs HEhso aE) aoctwol

Options :
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Leguminosae

;
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1.¥
Asteraceae
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Malvaceae
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Lilliaceae
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Question Number : 6 Question Id : 4387197686 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the incorrect statement

w=EzR 3505535;:&’::« w@ﬂ‘%“ﬁaaﬁ

Options :
Leaves are absent in Taeniophyllum

S0arbeS & dovw @o
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In Fabaceae root nodules N

) % P20 Hevowos® No 258 3% mided® et

Inn onion stem is not fleshy

3 % %08 oo 8GgBdgo o

In potato root tips bulge into tubers

i poredodd® A 5 re of) Godub D8 %D

Question Number : 7 Question Id : 4387197687 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Blastophaga lays its eggs
ZRET 05 SEHIHSk

Options :
onfleshy inflorescence

| ® Sofifie B AT Jodon

in the male flowers

e wn Soy ol
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in the gall flowers

3 s é}é?;a:é”:
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inthe female flowers

B - P =
4. ® lf_'; '3-'3'3'40_:5-’5:

Question Number : 8 Question Id : 4387197688 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The following is not related to the events of pollen pistil interaction

P& - aol® & DY $8; & Somodo B0 Som&s
Options :
Formation of pollen tube

o ST :Jf.’;:- &o

Germination of pollen grain on stigina

Formation of zygote as a result of syngamy

” Socinf Sodrdo $HSor Soctng Dadn J8 Kk
3' i L.,

Growth of pollen tube through style and reaching the ovule

ST do Svo TnT wardod womd) Boko

Question Number : 9 Question Id : 4387197689 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Plant that producesboth chasmogamous and cleistogamous flowers is

e - PR == 5 = = [ . = S ST
w0 Su0cin Hodd Sodrd Jimen Tobo&dedd T Sus)

Options :
Oxalis

z L

Vallisneria

Gloriosa

FoErs

Question Number : 10 Question Id : 4387197690 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The plant seed with perisperm is

oty S -l Tyt
S6o sot JnE Dédo
e )

Options :
Beet

. v &%
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Bean

D

s

0

2.

Castor

3.

Wheat

i oo

Question Number : 11 Question Id : 4387197691 Display Question Number
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct one related to Arachis

IT) Monadelphy
IV) Geocarpy

I) Indehiscent fruit
I1T) Non-endospermic seed
V) Dehiscent fruit

oy

e % Honobod ¥BS AN Loiksod
I) w988 oo II) Lfeos &8
I1I) @oéﬁ@:dﬁ&wﬁgﬁc IV) griig $eo
V) 288 $eo

Options :
[.IV only

e
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: Yes Is Question Mandatory : No Calculator : None Response
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Question Number : 12 Question Id : 4387197692 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Energy rich macromolecules are digested by the following cell organelle

Fo0iEN Tre Do é'g[_:f‘-ci ﬁ:ﬁ;f‘i?aﬁ geoiio
Options :
Mitochondrion

| % & rolBuirR

Lysosome

) & BRES
Endoplasmic Reticulum

wodls (Heroo
3. % o i

Golgi bodies

4 % mf Soddo
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Question Number : 13 Question Id : 4387197693 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The following are aromatic amino acids
P
et TEE Lotfols @-E_;ﬁﬁ e
Options :
Threonine

| BEES

Tyrosine

ﬁg-_E
, o 55

Proline

3w 88

Lysine

4. % 855

Question Number : 14 Question Id : 4387197694 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Lecithm 1s a
5265 o8

gl B5

Options :
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Phosphomonoglvcoside

| % &) B-SPSRE

Phosphoglyceride without Nitrogen

, % Slg=d B0 FRANIDE

=t

Phosphotriglyceride

Nitrogenous phosphoglyceride

4 Nlgeland PHATEE

Question Number : 15 Question Id : 4387197695 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Statement 1 : Desynapsy ends at the diakinesis
Statement 2 : Diakinesis is characterized by the terminilisation.

5o 1 SarSakn Q588 | gadnife Swibiked

TEo 2 ! EoERNE Soyeno FErifhe woEpEas
Options :
Statement 1 1s false. statement 2 1s true

a’*’é@o 1 @‘éé&o. a’“ﬁéo 25 0o
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Statement 1 and statement 2 are frue

) a‘-‘ég-;c 1 s68d%o Jﬂé:go 2 ﬁég)a

Statement 1 1s true and statement 2 1s false

e 1 Sdio @bals 5o 2 enide
® 2 2 :

Both statements are false
Sots TPEEn R0

4. %

Question Number : 16 Question Id : 4387197696 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In dicots transpirational loss of water 1s minimized to the possible extent by

sslered® erifEso owoe wiih H8Se Torsss 365 sDEssosan®
Options :

Epidermis

Stomata

) % B Eoo|gres
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Cuticle and trichomes

Lenticels

4 % TPdin Bolpren

Question Number : 17 Question Id : 4387197697 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Number of vascular tissues in the tetrarch condition

e mriE %%@E eI Somaere Hogs

Options :
1. % 4

Question Number : 18 Question Id : 4387197698 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Arrange the following in a centrifugal manner in Primary Dicot Stem

IPericvcle II. Cambium

ITI. Metaxylem IV. Starch Sheath

FEWE Byl oliod® (BobaEY SolEdars ($os® wityss.
I 3850 II. Dgrecgersid

III. sodgmris V. &o&.éﬁg S

Options :

| % IV, LIL I
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Question Number : 19 Question Id : 4387197699 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The following is a drought escaper
&i80h TES® mergrd é&%é&&?ﬁé é&mﬂ:ﬂdﬁ&ﬁﬁ
Options :

Casuarina

L% eroar
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Aloe

2%;@‘5

Opuntia
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Tribulus
|Benen
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Question Number : 20 Question Id : 4387197700 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Contribution of services like recreation and nutrient cycling put together constitutes
the following percentage of total,

D5 %c Sbciw DSSuato Sod B Tolod HirzEost a&iéﬁée S'Jﬁwwﬁ FEo

Options :

Less than 10%

10% gc8 S5
Accounts for 50%

5 % 50% Hendodindcd
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Less than 20%

20% Sod S5
3.

6% each

L% aF58 6%

Question Number : 21 Question Id : 4387197701 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

element 1s a component of Ferridoxin
Soreso DB d30E), 28 ertio

Options :
Zine

Iron

. DRI

Magnesium

3 % mﬁibcﬁ:o
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Copper

4231:5“?:

Question Number : 22 Question Id : 4387197702 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Water movement from root hairs to xylem through cortex will occur when the water
potentials are

D& 35) 0 DOV Do &) P D Hare TR0 S UV TS

O SWEOT O
Options :
Root hairs = 0 Cortex = -1 Xylem = -2

" Q0w ST 20 dY o = -1 TP = -2
Root hairs = 0 Cortex = -2 Xylem = -1
- 20w ST =0 DY o = -2 Y = -1

Root hairs = -1 Cortex =-2 Xylem =0

. Sore 57 = -1 dwj e = -2 ordoa) =0
3. -

Root hawrs = -2 Cortex = -1 Xylem =0

4 % SRTO ST = -2 V) wo = -1 T =0

Question Number : 23 Question Id : 4387197703 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
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Time : N.A Think Time : N.A Minimum Instruction Time : 0

element 1s not required by plants for their normal healthy growth

D0) L0 T8 FLroer BB ASERD DAMEVLD B Jrvo BIVEe T

Options :
Phosphorous

&ﬁﬁgdf\:

Potassium

Teraooe

Calcium

=Hobe
e

Lead

31
4.

Question Number : 24 Question Id : 4387197704 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

NADP 1s converted into NADPH- i
NADP ¢S NADPH, ™ mcﬁm&,o&

Options :
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Photosystem-II

Jres*Bo-11

1.

Calvin cycle

S SRUNSENEE

Non-cyelic photophosphorylation

80D ST odT T\ BTND
3.¢ :

Photosystem-]

De5 dD-1
4. % e

Question Number : 25 Question Id : 4387197705 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The end product of EMP pathway is

EMP ;‘:)J"-:r:::-o mSG B8 v:.%@be_i_%

Options :
Pyruvic acid

;_:-mi}é. e300
1.+

Malic acid

208 essvo
2. ® .
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Ethyl alcohol

@S B 5O
3. %

Citric acid

RS0
4. %

Question Number : 26 Question Id : 4387197706 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The competitive inhibitors have ability to bind with

e DTGz S eyofod %“é&g‘:si}:‘l £OA eotron

Options :
Non-competitive inhibitor

. T DD TGS
I.

Active site of a substrate

GRDTCo CANS). oIS D5
) ® & iy I 8 =

Enzyme cofactor

. JoZo0 WP 0S0
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Active site of an enzyme

oZead B0E), oirso e
4.4 = Sl

Question Number : 27 Question Id : 4387197707 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0

The treatment with
plants

DO\ EETIS DODROE
Options :
Zeatin

2O
1. %

Indole-3-acetic acid

Dol e5-3-00¢838 oirhE
2. ¢

Ethylene

. 25893

induces nodule formation in the roots of leguminous

& Dédy SrRLBD DL © Arervd” TErSy (AdDden)
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Abscisic acid

oD \DE O3rE
4

Question Number : 28 Question Id : 4387197708 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Bovine spongiform encephalitis disease 1s caused by
e5°DD &bca‘a&tﬁé Jjﬁbiﬁﬁﬁé}f\: (B SV Do
Options :

Viroid

FolelabbleH

Bacteria

w%&cﬁr

Virus

D6D

Prions

S03T° DN
4.« -

Question Number : 29 Question Id : 4387197709 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
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is a bacterinm commeonly found in the amimal and human intestines

908 220805 B ATrHD DRSS FTGEIT £

w%ﬁﬁﬁ:o

Options :
Escherichia coli

VRNl g9
1.

Bacillus anthracis

LRV oI
2. %

Vibrio cholera

s % DO soT

Cornybacterium

?&lwéﬁmc
4.% =

Question Number : 30 Question Id : 4387197710 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

A cross between a hybrid and a parent 1s known as

TPOE 2083 2RASCS0 DIE] RoSTY e908T°C0

Options :
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Test cross

8 57
]

Monohybrid cross

I FDE TR

Back cross

wsé 50
3. ¢

Dihvbrid cross

D6 TR

Question Number : 31 Question Id : 4387197711 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Repulsion and coupling are two faces of

zjsgea 20803 28 Srctio WC0E), Bt 20870

Options :

Mutation

&é;jﬁaﬁdéﬂ
1. % -
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Linkage

Ry &
2. ¢ 2

Crossing over

- P ilelal L

Chiasmata

PasrIr) er
4. %

Question Number : 32 Question Id : 4387197712 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

A Polycistronic structural gene is regulated by a common promoter and Regulatory
genes in bacteria called

erE8aSr $08D Pprbo [Hared Sban Jchol¥n =ind Ho POBRELE Joynind agr vk,

Options :
Recon
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Positron

i)

Muton

BoTeger 5

Question Number : 33 Question Id : 4387197713 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
The bonds between Guanine and Cytosine

ﬁt}ﬁ_f soBdso Eé.‘iaﬁzﬁ S0l womren

Options :
Single Hbond

| % =% Hw=ofo
3 - H bonds

7 3- H =ogres
Double H bonds

3 % &y Hezogren
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Tetra Hbonds

4 % =& H zogren

Question Number : 34 Question Id : 4387197714 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

A technique to alter the chemistry of the Genetic material DNA and RNA 1s
2 roses Qprsdn ohwoe el

F

o)

g

SrgEnss Bchly HbBdhn «ball & Sardhd S8 elutbil.

v

Options :
Bio chemistry

25 Bardhsd %o

P

Genetic engineering

2. %
Bio science

damo

L]

LCA

Microbiology

e :
;f-:ﬁi:fé £ oo
). Y 1

Question Number : 35 Question Id : 4387197715 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
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Time : N.A Think Time : N.A Minimum Instruction Time : 0

Corrective therapy to be taken for hereditary diseases is

wendods Tyhed Sdhe Tkt atded D3¢ wuolrd?

Options :

1. ®

4.9

Immuno therapy

;55&;3;%% @dgz

Cell therapy
S goh
Tissue therapy

Sty 6

Geine therapy

45 guh

Question Number : 36 Question Id : 4387197716 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Transgenic Golden Rice obtained from ‘Taipei’ is a rich source of

prevents blindness

Options :

Vitamin — K

Saine- K

Vitamin — C

Stase- C

Vitanun — B

Daue- B

=

Vitamm — A

3 @iNed T ‘Tovhaw’ T $aird Shs0, aokhs® oI B Sreethd® So

woiT) Varboiii?

Question Number : 37 Question Id : 4387197717 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Father of Green Revolution

8 U3s hErmsiud
Options :
William Gaud

S9caho &

Herbert Boyer

TGE &Pk

Stanley Cohen

PR S53eS
3. % 7

Norman Borlaug

TS S'ocoh
4.0 TETS

Question Number : 38 Question Id : 4387197718 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The capacity to generate whole plant from any cell 1s called

S;-QFED '-s.égr B30 e awdo E:.:ﬁeréa 2205 T a:ﬁaﬁ”?ﬁ{‘; ZET SodED

Options :
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Cell capacity

Bes oFsbto
1. ® =

Culture method

Totipotency

d gt
3 6578 55 )

Cell potency

Wém

R

4.

Question Number : 39 Question Id : 4387197719 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Plants produced that are genetically identical to original or source plant are known as

a8 dabelds I efpbor alderr siom Sor fro Tk OS5 TAD otr
Options :
Twins

| % Sfeen
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Somaclones

RSy
) \f"" T T

Propagules

| S 2 B
[od mmﬂ 5y

3. %

Embryoids

Jo|fidirang,
4.% 7" H

Question Number : 40 Question Id : 4387197720 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Statins produced by this Yeast have been commercialized as Blood-Cholestral
lowering agents

&

ey HBore BEo® FOEPS $hos Un T8I, POHS aHd T0 & 267
Options :
Saccharomyces cerevisiae

“ o e =
GoreiRht Keohak
1. %

Momnascus purpureus

E:.:Fﬁgﬁ BEn8ahh
2.¢ -
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Candida utilis

3 % ol OIS

Trichoderma

os'aoy
aw =08

Zoology

Section Id :

Section Number :
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Number of Questions :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :
Maximum Instruction Time :

438719159
2
Mandatory
40

40
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Question Number : 41 Question Id : 4387197721 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0
Regulative embrvos are produced by
BLTED DolroR &S \G B 2P
Options :
Protostomes

| e Pavoen

1. %~
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Deuterostomes

_ cz:vge‘.'}fj igﬁ;ﬁme.u

Sponges
3 % RyoRSLD
Tape worms

Al ooren

Question Number : 42 Question Id : 4387197722 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which ot the following statements 1s correct ?
&1 o8& T°S° D DATEAD VTAA?

Options :
All the enterocoelomates are deuterostomes and they exhibit radial and indeterminate

cleavage
esodd 306 S0IrG zé.;gjﬂbl srer GritY e HoBosn @l dwab, 70

v DOTT D) D63 oW

All the enterocoelomates are protostomes and they exhibit radial and indeterminate
cleavage

es0dd 300 LirG a‘:;@ubl Srer 65D 20000 B0 ©d S0k BV 8BS

, DO DEO- o0
2. .
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All the enterocoelomates are deuterostomes and they exhibit spiral and determinate
cleavage

es08 300 2010 eé;g_juf’\}l Srer Gr(@f Y dmen wdaln ©d 8w, Jodd
DOTTV) 0638, F=a

All the enterocoelomates are protostomes and they exhibit spiral and determinate
cleavage

eso0d 306 200 é@wb;t srer JE Ay wdoin ©d 2w, Jgbd

s DBTT VY 0E8,F"00

Question Number : 43 Question Id : 4387197723 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Assertion (A): Albumin regulates colloidal osmotic pressure of blood

Reason (R): Heparin is the blood clotting protein

TG (A): 500 S 650 FYondd GTDRGR DET) Do

660 (B): a7 ¢&° &) 68 X063 TOHS Pr8d
Options :
Both A and R are true and R is the correct explanation of A

. A 208030 R Bt DBAD 08030 R e9:1A A £ 28R D6
1.

Both A and R are true but R is not the correct explanation of A

) % A 3080320 R 8ot 2TAD 570 R 92038 A S5 20 D968 576
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A 1s correct but R 1s wrong

| o ARBAB I R 0036 s

A 1s wrong but R 1s correct

| ARD36 56 5 R 2336
4.

Question Number : 44 Question Id : 4387197724 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Closed type of circulatory system is found m the members of

D EHweS” Vodyd 68HNGR D[R SIDREH?
Options :

Arthropoda. Mollusca and Echinodermata

O, o0, dakL IS cB)er
L% @ -

Urochordata and Annelida

o8 $8Er Sudain edTee
2' % Lo

Annelida. Cephalopoda. Cephalochordata and Vertebrata

. ST, DDS VT, VRS TBVer B0 HpEer
3. ¢
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Urochordata and Cephalochordata

) 0rE s0Er S0 DHS s Br
4. o o3

Question Number : 45 Question Id : 4387197725 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following is wrongly matched?

&1 So8 7" BIYYT BADOBLICIE DB?

Options :
Adamsia — Sea anemorne

| D0 — D 0D

Pennatula — Sea pen

D7) LfeT - (SPebblal={-5l.]

Gorgomia — Sea fan

rrg?:)a:ir — DA DHISG

Aszcaris — Hookworm

" .83 — §od YD

Question Number : 46 Question Id : 4387197726 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
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In the process of evolution, striated muscles appeared for the first time in the phylum

B SoTrLD VNG DTS 2 ::gaej‘* EJBoran?
Options :
Annelida

| % @O0

Mollusca

;53@_}5“1?

Arthropoda
s8I
@

Echinodermata

2B &B)er

Question Number : 47 Question Id : 4387197727 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Which of the following statements is / are correct regarding cnidarians ?

A. Polypoid forms produce medusa asexually

B. Medusoid forms produce polypoid forms sexually

C. Metagenesis 1s the occurrence of different types of zooids
D. Polypoid forms produce medusa sexually

& 308 To8" Melateles by Rotofow) ROHE (D)

A. 3D 6o ©TohS DHESES® Do DSyERS

B. 206 o Tohis DEBS” Fr D STy D6IRed
C. 93¢ 25570 £9A Godr) IT°L JISOSBOS ot

D. 393 drJren Teliger™ 0EIIRA) DOyEI 0N
Options :
A and B are correct but C and D are wrong

v A 208030 B 2052 57 C S0dain D 25D 57

A.B and C are correct but D 1s wrong

- A, B 2080300 C 288 570 D A0HE 5760

A and B are wrong but C and D are correct

3 % A 208030 B 2BHD 57 570 C H0bodw D 2HB[/D

A B and C are wrong but D 1s correct

4 % A B 208050 C 052 573 59 D 006
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Question Number : 48 Question Id : 4387197728 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Assertion (A): Life history of flukes i1s complex

Reason (R) : Life history of flukes includes many hosts and larval stages

TAD (A): ISy BB WOG B [od DS Eotwod.

5330 (R): DG 050 eadiddodne) Sdoin Gods &Fen Sy B OGS
gJHIFrow.

Options :
Both Aand R are true and R 1is the correct explanation of A

[ A 2080300 R Boch TR B30 R 908 A S0 28R D06

Both Aand R are true and R is not the correct explanation of A

5 % A D08050 R Dot 00D 5 R 002008 A £ 270 D6 57

A 1s true but Ris false

, A XD 50 R 20398 7
3.

A 15 false but R is true
. A 0D36 S 5 R 0396

Question Number : 49 Question Id : 4387197729 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Which of the following animals developed the ability of using ribs and mntercostal
muscles in ventilation for the first time in vertebrate evolution?

REBLT O DOEFD 00" D 2P AVOINGEH FOMT DO S B

£0605°086 SodT VR &DATAeD O HenyEddo Fdodoran?

Options :
Mammals

26oren

Aves

Question Number : 50 Question Id : 4387197730 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which mammals in spite of thewr egg laving nature. feed the yvoung ones with milk ?

S FOVy T'aed wc&fwﬁcﬁs 28oren

Options :
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Whales

Salorierren
1. ®

Dolphins

O\

X
Marsupials

- arci.}gf.mi)ﬁb

Monotremes

Question Number : 51 Question Id : 4387197731 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following statements is true?

& $08 DATBIVG” DA PTIA?

Options :
All chordates are vertebrates but all vertebrates are not chordates

- ) SO0 RVEFALTT SR B VSIS L SO0 5
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All vertebrates are chordates but all chordates are not vertebrates

@) VEFCS" 5788 571 ) SO 2D PSTASW 5
2.4 °F = =

All chordates bear jaws

©) SO &P TRDHVA SDAGoLToW
3, % =

All vertebrates bear jaws

s 92y VERWBTLL GG £dAeotTon

Question Number : 52 Question Id : 4387197732 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Site of ATP ase activity in the cilia and flagella

3908 St STgod’ ATP obe SonSomres

Options :
Microtubules

eGP

Dynein arms
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Inner sheath

3 % &80 S5

Outer sheath
iy ST

4. %

Question Number : 53 Question Id : 4387197733 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
In which of the following longitudinal binary fission is seen ?

Bod & £a&b wdhEBEEINS SWBHk ?

Options :
Amoeda

Chilomonas

B8RS
2. %

Euglena

3.¢
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Paramecium

58065
4o

Question Number : 54 Question Id : 4387197734 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Match the following

List -1

List - 11

1) Larvae of Fasciola

a) Filarasis

11) Sacculina

b) Female Anopheles mosquito

111) Plasmodium

¢) Snaail

1v) Wuchereria

d) Carcinas maenas

Bof =00 =88 haw

Hh

O

o

o

- I

i) 2h&Erer Sogfzre

if) arsogoa

| i1i) arRfdaso c) 54
iv) a¥dedse d) =855 s

Options :

(i—1b). (ii ). (iii — a). (iv — d)

1. %

5w (i—a). (ii—c), (ili—d), (iv-b)

3.9

P (i—c). (1 —d). (111—b). 1v—a)
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4w (=d).(i-c), (iii—a). (iv-b)

Question Number : 55 Question Id : 4387197735 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Assertion (A) : Female Wuchereria is ovoviviparous

Reason (R) : Larva of Wuchereria exhibits nocturnal periodicity

85 (A) 1 s eSSt wodddrannsdd
8o (R) @ a5tedir Gogffo QovTre wedbso & BEGowd
Options :

A 1s correct but R 1s wrong

A #58s =8 R S0
A 1s wrong but R 1s correct

A fgdgseh =y R O £pE6
Both A and R are correct and R 1s the correct explanation of A
A H6d5n Reo Sotriitsd, R oda A % 385 256

Both A and R are correct and R is not the correct explanation of A

A %5805 Reo 0ot ReRd A % #050550 =%
4.
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Question Number : 56 Question Id : 4387197736 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is not correct related to Ascaris lumbricoides ?

[Bobmr@d® wirbhool@sronds & Sonofod KORE?

Options :
Sexual dimorphism 1s distinct

s dofs &gﬁiﬁéé aotnod
O B —. —_ Lo}

Female Ascaris has a curved posterior end

s agmbh Sorodgiits SoH8ER Hotwod
2.9 i

Male Ascaris has a pair of pineal setae

S smEa% o8 ad HUASS rvven dodPaw

In both males and females. the body is elongated and cylindrical

Bothdsen ( &, ot smEhw) drarsdorr, S Godron

—a (w0

Question Number : 57 Question Id : 4387197737 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0
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The use of prohibited drugs by athletes with the intension of improving athletic
performance is called

RhBotads SHgiothed STt 565 DoNESeris ald@riodey DOLPE
Options :
Doping

Addiction

S50

Drug dependence

oo egrdhtito

Dipsomania

& _t
oA R WA v

Question Number : 58 Question Id : 4387197738 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is not the mode of Tobacco abuse ?
Bobaras® P eI 188 e 167

Options :
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It 1s smoked

« DPESIKo

Chewed as gutkha

Used in the form of snuft

280 haeno
3. 33 o el

It 1s taken by injection

&b oo 8F ko
4.

Question Number : 59 Question Id : 4387197739 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Identify the correct statements related to logistic growth of population?
i) Logistic growth of population show initially a lag phase. followed by phases of
acceleration and deceleration.
11) Finally it shows an asymptote/stability.
111) Logistic growth in population occurs when resources are unlimited.
1v) A plot of N in relation to time (t) results in sigmoid curve.

=T Sxf) orEls hhibde donclod HBH Bklol Hiomin?
i) g GE) el DHIHES ool of erhss, Shars TE KBnss H0ak b
&ie ok S
i) wosfiom JRoPS T LEsSud drdd
iii) margrd® &PE?E:}E nEihde ol SSkher untdonr DD alibid
iv) Srages® amgrirets (N) |, oo (1) o Q805D bt edh S50y J6)ED
Options :
Except (1v) all are correct

L (V) &), A0S0 s 350
L.

Except (11) all are correct

. (D) 8, WADED oiy ¥B8D
2. '

Only (1) and (11) are correct

(1) Sobafs (il) Seigah #0580
®
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Except (111) all are correct

4 (111) 5y, WADSD e LB

Question Number : 60 Question Id : 4387197740 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Number of new ndividuals produced in a unit time. per unit population is called

288 BFragorie (BEdos® Deisrwos® alodd dde Sogy
Options :
Immigration

| % RoRTTEto

Natality

5 o B0

Emigration

3 % Sosntsdo

Mortality

4 % SOl

Question Number : 61 Question Id : 4387197741 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
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Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which respiratory disorder causes recurrent alveolar hemorrhage?
S5 TR ST Swtidcn T G 67
Options :

Asbestosis

g‘- T E“.E

1 W@ Bl e

Silicosis

oo & =
) ruﬂgﬁr.-m

Siderosis

5 @ DABRE

Bronchitis

4% [pleEla

Question Number : 62 Question Id : 4387197742 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Arrange the following in a sequential order
1. Exposure of collagen
2. Formation of platelet plug
3. Production of web of fibrin proteins
4. Vaso constriction

180l T8Y HHD Eoos® wudol.
1. BPerel dodde m&mgéo eatio
2, Fodfe AT WG ELo

3. PIBS P88 o So VOL

L

FE.-J

4. 857 HosSo

Options :
el 4 2 3
,xl. 2. 3 4

[98)
3
g
L)
-2
—

12
L
-~
k2

Question Number : 63 Question Id : 4387197743 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is rightly matched?
B0t T&E* %6 wond ed L8 ?

Options :
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2.¢

Pulmonary circulation — Greater circulation

DG [DPrbn - «bE Db

Systemic circulation — Oxygenated blood

TIPS (Fite - shed H58 8k

Pulmonary circulation — Oxygenated blood

A

oh

Cx

8
1

el SIrd 5o

Systemic circulation — de oxygenated blood

GOrE (Bids - waped Sird 680

Question Number : 64 Question Id : 4387197744 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Match the following

A. Lungs 1. Elimination of sterols. waxes & hydrocarbons

B. Liver 2. Elimination of CO; and significant amount of water

C. Sweat glands 3. Removal of NaCl & Lactic acid

D. Sebaceous glands 4. Changes the decomposed Haemoglobin into bile pigments

|3ch O =8 Bdod

A %8 8w L §0°F) , o & E g8 o 2GS

B. =8a%o 2. CO,Sbakn &b Trarth €8 D O8gs

C. 8 (Hooes 3. NaCl & 88 wifso Fohod

D. $8) (2P (fogoes 4. Desiio Bodd TEFTOS B DY odcrorr Srdne.
Options :

L% A-1.B-2.C-3.D-4

o o B=2;8-4,C-3,D—]

3 « 2—3,B-4C-2.D-1

4 * A-4B-1.C-3.D-2

Question Number : 65 Question Id : 4387197745 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Repeated activation of skeletal muscle leads to

noomio

ik,

Sollo &L8HSR 56 58 Ho50osto o «b

Options :
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Accumulation of lactic acid

85 . g B e
| TE =0 % 28Sdo

Release of calciumn ions

?%d‘bo sdirhe Dihde
2. %

Glucose synthesis

K8 ?Eoﬁﬁa@
3. %

Recovery from fatigue

4 % wodt SHod Basiteo

Question Number : 66 Question Id : 4387197746 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

58/137



7/11/22, 9:12 PM

Match the number of spinal nerves present in the humar

A Cervical -12

B. Thoracic -5
C. Lumbar -5
D. Sacral -8

Srddost P st Logg eddldod

A AE - 12
B. a8 -5
C. 58 -5
D. &3 -8
Options
A-5B-5C-12.D-5
1. ®
e =12 =% -5
2'#;:% 8.B—-12.C-5.D-:

3 % A-8.B-5C-12,D-5

4 % A—12,B-5,C-8.D-5

Question Number : 67 Question Id : 4387197747 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Assertion (A): Hormone and its receptor protein together form a hormone receptor
complex.
Reason (R): Hormone receptor complex generates biochemical changes in the target

cells

&S (A) @ 260 Doy TR [PSEEn ¥0b Eh% (PEE Sodhin DGh®H0B.

E‘ b

8o (R) : 5856 rirs $odisn of Serad® €5 drahs Srdned Swif Skob.

Options :
Both A & R are correct. R is correct explanation of A

A & R Bodr #5859, R =36 A 8 385 D58

1.
Both A & R are correct. R is not the correct explanation of A

A & R Bodr #8850, R =dd A 8 £83 058 o6

a_

Both A & R are incorrect

A & R ot £8:50

A 1s correct but R is not correct

A #3568 0 R #886 &%

Question Number : 68 Question Id : 4387197748 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Identify the different digestive gland that does not produce enzymes
8ot & LoBdued [BRod (ol L6 ?

Options :
Pancreas

12355&9

2. ¢
Stomach

éaﬂ‘;‘%‘ﬂﬁ:o

Intestine

=

Question Number : 69 Question Id : 4387197749 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
Inactive form of calciferol

s o) RiReird)s drido

Options :
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Prorenin

BPORS

Cortisol

=get
2.8%

Caleitriol

FoHE&rS
3. F

Adrenalin

L% 8|8505

Question Number : 70 Question Id : 4387197750 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which enzymes are released from the cytotoxic T-lymphocytes that help m the
Apoptosis?
?:&5%@%&5 T - Sogffitx ol DS @&"‘a; & OBsD wefteh & ddhad $H%os?
Options :

Lysosome

L% @F?E?s:%:au

Granzymes
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Nuclease

3 % ﬁ*gé&;uﬁ

Pertorins

2586 5es

Question Number : 71 Question Id : 4387197751 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Match the following based on their function

A LTH 1. Regulates spermatogenesis
B. FSH 2. Elongation of Bones

C. IGFs 3. Helps to sustain pregnancy
D. MSH 4. Regulates pigmentation

13c% © sprbont (Sob FEN =dBEdod.

A LETH 1. &% éﬁﬁ‘: 0 Robol8ihol

B. FSH wande DUILLeS 5E§ jnel=ilelal
C. IGFs 3. ﬁﬁ;ﬁi"ﬁm FIPHTR8 S5v880h
D. MSH 4. 3% Sorbih Lobo|&lob

Options : )

L% A-2.B-1.C-3.D-4
2.$A—3.B—].C'—2.D—4
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3 % A-4B-3.C-2,D-1

4 8 A=1,B-4,€C-2 D3

Question Number : 72 Question Id : 4387197752 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Find out the imncorrect match

BT 2BDBICIE SAF 0D

Options :
Menstrual phase — Lasts for 3-5 days

| x 2080 TS B% — 3-5 Beren sodo

Follicular phase — LH and FSH secretion gradually decreases

- g &% — LH Sobosoo FSH & o E;;‘.ué&r‘r“ e:&rrps:u

Ovulatory phase — LH Surge

b i
- ©olid 8 6% — LH 183 gfcm

Luteal Phase — Graffian follicles transform as the corpus luteum

. OIS $% — TP YIS 561D Lo Eraroddo oA
4.

Question Number : 73 Question Id : 4387197753 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Which type of epithelium is present in Vasa deferentia?

BETersed” O GSR EDEY Gotod?
Options :
Simple Squamous epithelium

Do E‘UETE'J &ensy

Stratified Squamous epithelium

, x ROD IV L &DSY

Pseudo stratified Columnar epithelium

DT VOB WS &SV

Simple Columnar epithelium

DO oIS &DEV

Question Number : 74 Question Id : 4387197754 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following STD i1s completely not curable?

S0l T°ES" DB PO Hoo BEWT Tohs VoD, T8 7
Options :

Hepatitis — B
L 0> — B
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Gonorrhea

Hadoi

Syphilis

20D

Trichomoniasis

B8 AT oIrHD
4. % =

Question Number : 75 Question Id : 4387197755 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the tollowing 1s correct in relation to ZO-ZZ type sex determination?

& 308 T85° ZO-ZZ 685 Dofs QTeSEs SO RotioBot) D& DTHE?
Options :
Occurs in human being

| % ARV & 260

Female 1s homogametic

23 £ 22 HodErs Do
2.8 =
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Male 1s heterogametic

. NN B D Dol Do

Occurs in moths and some butter flies

, S8 0" Hodadin §y herfe Denges” 228068

Question Number : 76 Question Id : 4387197756 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which 1is the correct genotype of blood group A?

A Og S0 alE) DV 2| 6rdo AB?

Options :
A 1B
| % | il §

9]
2w 1 1°

il o
3. %

s T

Question Number : 77 Question Id : 4387197757 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
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ABO blood group system was proposed by

ABO ©g DT LA DA BoDE DDHE?

Options :
Mendel

1 8 mﬂ'aé

Morgan

::mg“é

Bernsteimn

ﬁfS;l ?gomﬁ

Karl Landstemer

526 erol D6
4.4 ° S

Question Number : 78 Question Id : 4387197758 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In Apis mellifera

D22 2whpoe &°
Options :

Drones have 32 chromosomes

. D &5 32 §arE Ao HHokraw
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Queen has 16 chromosomes

, % TEd &0S° 16 §a5E S0 Notran

Worker bees have 32 chromosomes

S5® &i5eS” 32 §arE Swen Hyotraw

\.fj‘

Worker bees are produced by parthenogenesis

. &rd &iren JnERDID0 TP0° &SN PT OV
4, -

Question Number : 79 Question Id : 4387197759 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which types of images are produced by X-rays?

X-8087e0 T°(0° 2 520 DTren &S dobecoron?

Options :
3D image

| 3D Do

2D image

, » 2D Do
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4D mmage

s % 4D Do

5D image

SD Do

Question Number : 80 Question Id : 4387197760 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What 1s the name of epithelial cancer?

Jarddaes 57(Ry6 Do D37

Options :
Sarcoma

- 5"&6{7:”“

Carcinoma

5'“@35' A5
2.9

Leukemia

wﬁi}:w
3. %

Lymphoma

Do) AT

4. %
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Physics
Section Id : 438719160
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Question Number : 81 Question Id : 4387197761 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The number of significant figures in the quantity 5.6200 J 1s

208 T°F 5.6200 7 &5°D EFES Roafe) Roady

Options :
1. ® 3

Question Number : 82 Question Id : 4387197762 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
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A passenger saw a bus standing 10 meters ahead of him. The bus started moving
with a constant acceleration 5 m s~ 2 away from him. To catch the bus the passenger
ran at constant speed towards the bus. The mimimum speed of the passenger to catch
the bus is

208 DO S Hodd 10 m Brdeed” Jwwd. &R RNRY (ADotrch. &
2R0y 03J8 GrdorT 5 msT? DAVS(GRANS WaDLBBIDE, & DA
T o AL D DEE DOAGORL. & LRy WorERLL VB SIQ I

Options :
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Particle A (which 1s located at the origin at tume t = 0) 1s moving along the x-axis

1

with a constant velocity 1 m s ~. Another particle B is moving along the y-axis

according to. y=ct’: ¢ =1 m s~3. Then the velocity of A relative to B at t=1 is

2,8 8830, A (5~wo, t=0 SG rODEIR) DG rﬁaglaj X — 950 Dotad 1 ms ! fgd
dod  pardindH.  wofE  Sme B, y-®fo  Dowd,  y=of:
c =1 ms 3 DB 2s°Co @,05??3‘{9.‘:&;&. powd t= 1 s ;ﬁ%ﬁ B 0o A
03335& 2o

Options :

- V10m st

, % 10ms™!

3 % v3ms!

L 3ms™
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The dot product of A = (1 + } + k) and the unit vector parallel to (1 = J + k) 18
6% A = (i + i+ k) 208050 (1 — j + k) © 2arosder &) Oseg w620
OF Lilo

L]
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A block of mass 50 kg 1s pushed at a constant speed up a frictionless inclined plane
by a horizontal force F. If the inclined plane makes an angle of 60° with the
horizontal, then |§] 1s

[Acceleration due to gravity =10 m s'z]

Q;‘.aém%’ 50kg e 28 &) s uges Gagred Tre dwo £82 DAToH0 e300 F

RAIES SonEIB. &8 T Bwo L3R DATBICS 60° Lo BRD [F| Dewsd

[Rodoed SK6eas0 =10 m 5]
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Three bodies A, B and C of masses 10 g each are tied to a thread-pulley system as
shown in the figure. Assume the masses of the pulley and the threads are negligible
and there 1s no friction in the pulley. If the co-efficient of friction between the bodies
A and B with the horizontal surface 1s 0.1, then the acceleration with which the body
C comes down 1s

[Acceleration due to gravity =10 m 5'2]

2558 10 g @SR do S @a(ortvey AL B SoBoiw € wo HeB0S”
WIDOLD VBT Y@, S22y DBAKD TE5D GITH0L DXL BoBEADD 20BN Sy
T.Jagea Goradw. A, B H80in £82 DIATodGderw ;ﬁoﬁé ;Jagm oese (.1 000
‘C’ Sods bn‘-ﬁ.’)tﬁi‘)f‘.;}_')m A ejgdmm}

[ocoesg S¢6easd0 =10 m 5]
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A uniform force of (41’ + 3 ]) newton acts on a body mass 5 kg. The body is

displaced from (41 = 33 == L) m o (5] — 4} + 2k ) m. Then, the work done by

the force on the body in joule is

o
—D 2 (=5

555008 5 kg o o8 5505 B 25 68 noke (4i 43 j) Ermes $0 Sche H508. @ 559

(4; — 33 —2%)5&5&;0& (5i _4i L2k)M 5P (godsn 308, © nods W8S
50 Foas’

Options :
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A person of mass 80 kg sits on a spring and the spring compresses by 2 m. If the

person himself is projected at 20 m s™ velocity by the spring then the spring constant
. . s

of the spring in N m™ 1s

1555078 80 kg e 58 o8 (ol B ST Hockn o Broh 2 m Hobiddo Bobidh. © @yoh

o )

o

@8fc Tatd © [peh Gws) Boh LTresin Nm st

o

{:.q'.'l

i Iy 1‘
Sod e &3 20ms ZdSes

'F’
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A rod of mass M and length 2 L lies horizontally. A particle of mass m. moving with

a velocity v. travelling in the vertical plane. hits the end of the rod B and sticks to 1t
as shown in the figure. Then the velocity of point B just after collision is

soee M sosoin &7 2 L e o 56 §8e Sirodtornt ach. & 55 B 258 e

Soo Sol Sika m (B8Tee, V Si5n o Yoo 58 wRE)Sk. ofirdo Sond B 256 Sdaw

Illl ¥

M x= {}
1 ! !I.
A B:
€ e >
Options :
( m |
v
| % \1\"1"‘]11)
{ m M
Nt L[
Moy | ey
2. % L 3.
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Time : N.A Think Time : N.A Minimum Instruction Time : 0

A circular disc of weight 500 N and of radius 1 m 1s started from rest by a constant

horizontal force of 25 N applied tangentially to the disc. The kinetic energy of the
disc after time t =2 s 1s
[Acceleration due to gravity =10 m 5]

grdEn S00 N 5tdin mrdiin 1 m e o8 Syoed 8¢) woil Soak 25 N 58 Hdrasy
2ol [(BErfoddo Ju8, o8 Vv B8 Dol SHONE. vans 2 s v SuE « O 1ensl

[ososg Soeasn =10 m s™]
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, % 1007
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An object of mass m 1s in sumple harmonic motion. If the potential energy at a
displacement ‘x” 1s numerically equal to square root of potential energy at a
displacement “y’. then

(w = angular velocity)

GOfTPd M (10 08 DD 8¢ Tl Seoido & agb. o0 ‘X’ PiEo 58 deedE, Y

6.
i\;é&h} 38 e %ﬂ:&a%’_’sﬁ 2Y Surerils, 5\353]3“15 00T R

(w = Frham Doiaw)
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A body of mass 0.7 kg executes simple harmonic motion of amplitude 7 cm and
period 0.2 s. The magnitude of the maximuin force on it is

@2o°3 0.7 kg d0 2,8 220 7 cm S0 HOS H0do 0.2 5 536D TPwed

ROV PO S Do BTN . VoS PR (0N WY HOITEIL

Options :
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An object is thrown directly away from Earth’s surface. It’s initial speed is Vg and

from the centre of

escape velocity 1s Vg. If the object reaches to a distance of
2

'\‘..T
the earth. where R 1s Earth’s radius, then the ratio —TE
Vo
e 529 tradtdoo Dol trdom B8 Jchnldodk. TR &9 58 V) hodn Serabd 3o
454 . VE
trbo 108,
3 Vo

i Dens

Vi . & 555 gSoifo 5o

(R= ajpméﬂvgm}
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A horizontal metal rod of diameter 4 cm projects 6 cm trom a wall. The shear
modulus of the metal is 3 x 10'° Nm™. An object of mass 1100 kg is suspended
from the free end of the rod. The free end of the rod moves down by a distance of
(Acceleration due to gravity = 10 m s, Neglect the mass of the rod)

4 em TR0 (0 wE E8u DITAC SIPY sg 208 B Qod 6 cm 0L
TowED 2Dod. ST GGEr ®nsoe 3 x 101 N m”, g¢ dmy §d
1100 kg @502 (o 208 S0 Srd SR DE. Scé SN~ §5 2088 2800

& do (mmésejﬁdmo = 10ms7, 56 BT &DLodol)

Options :

x 0.75 X107 m
225%x10°%m

4 1.75 X 10'5 m
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Surface tension of liquids 1s
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An electromagnetic force

208 3@5{2&0&35‘6&@ BIVo
1.9

A weak nuclear force

208 BT ATFEODHE oo

A viscous force

208 i::lgw 2o

A magnetic force

28 e::odo%“gjoej gIo
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A liquid is flowing through a tube of diameter 9 mm with a speed of 10 em s, If
this tube 1s connected to a narrow tube in which the liqmd flows with a speed of
90 cm s~ then the diameter of narrow tube is

9 mm J°{Ro (L 28 Fo TP(T° 28 GBdo 10 cm s HAS DTN 8. & Ferdy
208 208 TS sDLILDD, H3) O Feos’ Bdo 90 cms™ SEF D3I, B

8o dws), TR0
£2) ¥ il

Options :
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3 o 3 mm

4 % 10 mm
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According to the law of equipartition of energy. the molar specific heat of solids at
low temperatures is equal to

(R = Universal gas constant).

38 Ao Deres odve H5°Co, O ﬁgﬁgeju S 0D ::Jt:s“g“e.: arerd mg“;&m
(R = JFrocds Soosn DT eS0)
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A heat engine operates between a cold reservoir at temperature 300 K and a hot
reservoir at temperature Ty K. It takes 200 J of heat from the hot reservoir and
delivers 120 J of heat to the cold reservoir in a cycle. The minimum temperature
(Ty) of the hot reservoir 1s

300K ag"’ge} £OAD 28 Fdersoie wdasw T; K aigﬁg@ 2OAD 28 agvécmo ©
206 28 & oo DI BOIVWDY B. W& WEeS” aWodo &I FAe Ao 2007
&) SRS 1207 &ardy Seder3oHAnIL 6O Basotdd) 8. &ardode

aag), £J4 aggﬁga (T;)
Options :
| % 450K

, % 400K

; v 500K

, % 350K
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In which of the following processes the intemmal energy of the gas remains
unaffected?

& $08 DEODOG” ) PG’ 50B30E 33 HrCy BoGBLIOE Gotold.
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4. ¢

Question Number : 100 Question Id : 4387197780 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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The density of a gas is 1 molecules em™. If the molecular diameter is 1 X 10 cm
then the mean free path of the molecules is

Focsd 1 molecules cm™ o Sra30S) W), e TRKEY 1 X 10° cm 900,

3% SNV i‘.’:&tﬁ“{b DG mcﬁémc

Isobaric process

020 DED HAAH

Adiabatic process

2B HdodHd
@ £

Isochoric process

D0 DBST HIo

Isothermal process

2550 agﬁrje:e ol-{onh
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A pipe of length 80 cm is open at both the ends. A second pipe. closed at one end.

has the same fundamental frequency as the open pipe. The length of the second pipe
is

80 cm T (0 28 Qoo Totd VHCL BOIE & B. 28 DB 2T &d)
Gotisd Rozo, ANGE Voo SOAD Jrads, FADT() dh &d)d. Todd
Aozdo IS, .

Options :
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4 % 120cm

Question Number : 102 Question Id : 4387197782 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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An object O 1s placed in front of two thin coaxial convex lenses A and B of focal
lengths 24 cm and 9 cm respectively. The object O is 6 cm to the left of lens A. If
the final image is formed at 18 cm to the right of lens B. then the separation between
the two lenses is

(Consider lens A placed left of lens B)

DS 5.0 &) DM 24 cm 0803 9 cm TETESTAY (o A Sdaiw B e
B0ty R A L0250 SHTTL D000 28 DA O A Gotrd. SR O s&so A
S G DY 6 cm BrGes” G\ 6. SO DSEDotio SWSo B SICDNR 18 cm

GrGoes” E)ej;)ci.é, &5 Doty SLE™L eS| GrCo.

(S50 A s050 B 20 G DIPIT &) & 908 0Sw)

Options :
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Question Number : 103 Question Id : 4387197783 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The resolving power of a microscope can be mncreased by selecting an appropriate
medium between the object and the objective lens. For a fixed wavelength of light.
the resolving of a microscope can be mncreased with

28 ArLLG0D ais) DyEe) 6 ﬁ‘mg‘éﬂi DR B0 SR ST HG
ROGLD cirdse £9A Gocoty T(T° 20WOTNA. WS STod W) K}g_t’g S50
Qgﬁéi}é , RTE) 68, DyB%), 08 5“*’3“53& Dot

Options :
A medium with high density.,

988 JroBS 0 03rdse Gord.

A medivm with high refractive index.

9HE IEBWDD (6ago (Y OITIE0 corrd.

A medium with low refractive index.

BE) S (0) DSBS Wego (I Wrdge o).

A medium with high viscosity.

Tl ?;:;ige:a (e O3rdSe Gotrd.
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A small sphere of charge 50 pc and mass 5 g 1s attached to a horizontal light string
and placed m a uniform electric field that makes an angle 30° with the horizontal.
The opposite end of the string is attached to a vertical wall. If the sphere is in static
equilibrinm and the string is horizontal. then the tension in the string is

(Acceleration due to gravity = 10 ms™)

2E £B2 VATBS BI3D TGS 50 pe DeVTrdIo HBS 5 g BITF (v w8
DRy By 8. 232 dIroddo & 30°Emo DD wE S 8 DS
EQod’ Gotrd. T do CIWE), Totsd SR 28 £8% wor HED Dhctrdd. wdo

2852 DAFoGoTT Sudain fge:agv::s :‘a&:wf’g@@ﬁ Eof], rCoes" D B[S

(AoBoe S$Sts0 = 10 ms™)
Options :
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A spherical shell of radius R has a charge Q distributed uniformly over 1t’s surface,
then the work done in this process is

T{FGo ‘R’ v Avsd 86\00  ‘Q od JIAEITY) 2S03m DIse
BT . & DS’ 28AD DI,

Options :
- Q?/4mesR
- Q?/8neg,R
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Two concentric circular arcs of radii of curvature 2 m and 3 m have linear charge

densities a4 and /4 respectively as shown in the figure. The condition for the
electric potential to vanish at common center is

(electric potential = 0 at infinity)

2 m SoBodw 3 m Hsoe m@&g‘*w L Botd 28 Zod I SR

@/ 208030 A BRaDH DRATDP Fogsen $Ih &) D. wand aLd So@dw

SG DES F) S0 BT D[DMLL T=5D VoG

(95083 ArGoes” DS 3810 =0)
2m 2T

AN n/6 (o) /6 A

-
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Options :
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3 % 0= —3/2
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The equivalent resistance of the circuit as shown in the figure between the poimnts A

and B 1s

DL0S” GO HVoHeS” A 208030 B Dotopw 20d) 08 G20

20

Options :
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10 W is to be delivered to a device via a wire having resistance 2 (0. If 20 V 1s the
voltage across the device. the power wasted in the process is

20 EI0 B0 wE DBESSL 10 W &mgéme? DY DIV Do)

BOVWAIB. &8 DOECINILH 20 V Sz adyd 55 b F 80,

Options :
% 3W

, % 2 W
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Two parallel conductors a and b separated by a distance ‘d’ carrying same current i.
If the distance between two conductors 1s doubled. the ratio of forces on conductor
‘b’ before and after separation is

0ot RVATBE TEDD TS0 a DBOIW b © Mot 28),8), IS 17 DS
DITTAD SV, ¥ TITTW Q) Grde ‘d’. &8 Both TrirsTO =Sy ArTedy
080 BITG. oA Tol) BOLEIWVeE, BID ST b’ Tirse D
DAV WL IS,
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A long straight wire carries a current of 10 A. An electron (1.6 x10™° Coulomb)
travels with a velocity of 5x 10°m s parallel to the wire 0.1 m from it. and in a
direction opposite to the current. Estimate the force experienced by the electron.

[Permeability of free space i, = 4w X 1077 SI unit]

28 JTERD BND 84 10 A IRe  pTraw 9 &) b
&5 SIS VIS, 8 Aol 0.1 m AIGeeS” DBNS DIV HATE IS s
dosd (1.6 X107 Coulomb) 5x10°m 57 Sied’ HAIreded. & JUs"Rd Jod
Loo

[35 038 28, DO 1, = 41 X 1077 ST D]

Options :
| % 1L.6x10"° N

-17
, o L6x10Y N

97/137



7/11/22, 9:12 PM
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On the magnetic mendian at some place of the Earth’s surface the vertical
component of the earth’s magnetic field 1s 0.433 G and the dip angle 1s 60°. Then
the magnetic field of the earth at this place is

B €008V 1B 2,8 DB, VAN o WBECLD WG, FH WO oS £
£82 Lot 0433 G 20B0in ©@IFS Smo 60°. ond e DB’ Hr

0T 0 £ Dewd

Options :
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A rectangular loop of area A lies in a uniform magnetic field B with its plane
perpendicular to the field as shown in figure (1). If the loop rotates through 90° i a

time IS (figure 1) from its initial position. then the emf induced during this interval
15

[ 0 : unit vector normal to the place of the loop]

N, ”
» B -
N B
i% - )I n!_..! »
(1)

(i)
DRB (i) &° Braden A DFVo (o 28 6 WACTTC LD 3D BerdS

V020 &R) DS08 oLI ) od Edo B & o, e w:g_j%s Tre0ed” D88

(i) &° Braden 90° Hoeso BodD e’ 2BS20a%] emf
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Options :
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In an oscillating LC circuit, the value of inductance is 1.6 mH and the value of
capacitance is 4 pyF. If the maximum charge on the capacitor is 4 x 10°° C. then the

maximum current 1s

208 Eod LC docdoees” H6Ss Devd 1.6 mH &H08akn SJo0dy dewd 4 puF.

SOy Noes A8 DAETDIo 4 X 10° C o (195 DS Dewsd

Options :
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A radio antenna recerver works at (10.5 4+ 4.5) MHz with an effective bandwidth of
9 MHz. the corresponding wavelength bandwidth.

208 Tars 0a.oir 50307 (10.5 + 4.5) MHz ;ﬁfg 9 MHz 2H2rd ;'J&é DERY &

2IBiNED) B. wond oIS ShD Be B 08 DEeoy

Options :
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The electromagnetic waves: Visible. ultraviolet. infrared. gamma rays. X-rays in
increasing order of their wavelengths are

3@5& E'_‘ch‘i::&"boej SCorTreD:  Gy¥(S70d, B3NS TS, DODR Sod, TAr
dderen, x — SotTen T8 SGof ST 1O &% T8 S0

Options :
Gamma rays. X-rays. ultraviolet. visible, infrared.
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Infrared. visible. ultraviolet. x-rays. gamma rays.

DT STod, &) F[S0d, B IS S6Eren, X — 6w, Mrar S8

2. %
Visible, infrared. ultraviolet. x-rays. gamma rays.
. Gy ¥[S0, DTCER S0, B S SOEFen, X — 6w, Mar SoEFen
3.
Visible, ultraviolet. infrared. x-rays, gamma rays.
. 35", ©23DVS TS Tod, DTN STod, X — S6ETeD, Mar 68T
4.

Question Number : 116 Question Id : 4387197796 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The mass of a particle is 16 times heavier than another particle and they have the
same kinetic energy. The de-Broglie wavelength of the lighter particle 1s

28 Sfe Qééﬂ“& Su8's so @;.‘:50"%% 16 5t SOA cod S0BOID & Dot SETen

28 (82 38 €9 o) on. oA & 39S Smo A, cerh @Gon age-
Options :

Same as the heavier particle’s wavelength

BB0DA Seasdw @dcdggﬁ}é AT,

1. ®

2 times the heavier particle’s wavelength

BIODRD Seadod édcdggﬁé Sot.oBeD.

2. %
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4 times the heavier particle’s wavelength

BIDDA S5800 H6RBT RS Trenry TLL.
3.¥ w3 ;

1/4 times the heavier particle’s wavelength

LD S0 BCoABGAN & 1/4 5 Do,

Question Number : 117 Question Id : 4387197797 Display Question Number : Yes Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Let 7; and Ag be longest wavelength photon and shortest wavelength photon

. A ; Ao
respectively in the Balmer series. The value of —% is
A
S

g6 3e3S” J'erd 680 SEoABE /i DoBokn $JR BGoAPYD0 1 BOND

L Dewsd
"}"5
Options :

9
1.« 5

-

b | wh
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o | oo

Question Number : 118 Question Id : 4387197798 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Consider a radioactive isotope ., U™* decays into o, Pb*® in a series by emission of
1, number of alpha particles and ng number of beta particles. Then the values of n,
and ng?

w8 BT B8 DI U™, na Doy esery SEren oBokL ng Doady DEr

ST STPC0 TTT" £638 Bod , Pb™ T 27026, oD 1, 08050 ng Dendew.

Options :

| Nng=28, ng =8
) % n,=6.n =6
3.\;?,11m=8_. ng =6

4 % Da=06 15 =8

Question Number : 119 Question Id : 4387197799 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Find Y & Z in the following logic circuit

8o DS S, Svoieed” Y bt Z dewden

B

i

ﬂDi i
1

Options

1.$Y= i

, x Y=0, Z=1

s x Y1 Z=0

4, % Y=0 Z=0

Question Number : 120 Question Id : 4387197800 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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A TV transmitting antenna is 70 m tall. If the receiving antenna is at the ground
level then the area it can cover 18

(Radius of earth = 6400 km)
w8 TV D6 087 TED 70 m. (1irold e308T° P Godd DIC ol

LDV oot DTV

(@r TG0 R = 6400 km)

Options :
V&5 2
L% 2562 km

, % 3256 km’

, % 710 Tkm’

4 o 2816 km’

Chemistry
Section Id : 438719161
Section Number : 4
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
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Question Number : 121 Question Id : 4387197801 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Phenomenon of removal of electrons from a metal surface when it 1s made to
strike with radiation of suitable frequency is called

DL FIDJP o IForD) wE S &DBGVo P TEoVWI. T Ao
QVERR S VA VoLV

Options :
Compton effect

| % Tod Do
. L]

Stark effect
, % g‘“f:% 5800

Zeeman effect

5 % 220D p0So

Photo electric effect

" S odd 3@55 H8edo

Question Number : 122 Question Id : 4387197802 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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A radiation of energy 11.0 eV 1s uradiated on gaseous hydrogen atoms at room
temperature. identify the energy level to which electron of hydrogen atom can be
excited?

A6 &0 2¢ TWNRS & Av ERd DOATIRDHU 11.0 eV 3§ Décmed
e8(dd0 (irradiation) metrdd. PERD DOIreLPNS® JUFTD D ¥ Jrownd
&BRdI0NBB?

Options :
1. % Ej

2. v E2

3.%E3

4. % E4

Question Number : 123 Question Id : 4387197803 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The period number and group number of the element. platinum in the long form of
periodic table are respectively

DR 358D HDYES” FBdo Jorwgo HBADNE. (Y Vo SERT

Options :
L% 511
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y x 6.11

4 v 6. 10

Question Number : 124 Question Id : 4387197804 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Identify the group number of the element X which has 1.44% more number of
neutrons than the protons. (Mass number of X 1s 127)

JerD Sot5 1.44% eoHS "nacaz-geﬁﬁ ROYEFRIHL X 0930 JurwSe TS, (A7) RodfRY

8o, (X B5(0°? Road| 127)

Options :
group 15

% G715

group 16
2.¢ O7e 16

group 17

3% 7D 17

group 14
g w 07D 14

Question Number : 125 Question Id : 4387197805 Display Question Number : Yes Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Group — 2 element (A) when reacts with group — 15 element (X) the general formula
of the compound formed 1s

4TS — 2 Jarwse (A). (7D — 15 Jurede (X) & 1) SodDYE D6yE Do) ¥do

s evilet &T&EF
Options :

1.\,__;;.? 4§L3 XI
2 % A3 X
3 % A2 X

L% AX

Question Number : 126 Question Id : 4387197806 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The bond order of peroxide 1on i1s x. The bond order of super oxide ion 1s

::D“Ej& £9030°Q BJodd 800 X, TR0 Ggﬁti EI03T D oG S0

Options :

i

— K
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Question Number : 127 Question Id : 4387197807 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

3 ST 0 : -

3.68 g of dihydrogen at 17 C occupies the same volume as 58.0 g of another gas X at
0 : : F

the same pressure and 95 C. The molar mass of gas X (in gmol ) 1s

2,8 260t 17°C 36 3.68 g © & TE2D Jod W3DBIT0 T, 95°C
56 580z 0 X o 08’8 P03 90 ADBIAToN 350 ed. X Arerd
@30°3 (g mol™” ex5°)

Options :

1% 20

2. v 40

3. % M

4. % 56

Question Number : 128 Question Id : 4387197808 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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100 g of a hydrocarbon C:Hy is completely burnt to produce 130 g of H2O. The
produced carbondioxide can give 228.56 g of O, via photosynthesis. What is the
molecular formula of the hydrocarbon.

100g © 08 TESC\S CoHy & QPO e mDedSDE 130 g H0 IDyebd.
DG\ CO,, 80030 WodTHEo Tr(T” 228.56 g Oy D D6 BDob. :.gﬂ@f?daﬁ
wm&m&w A7

Options :

| % C,H,4

5. v Cals

5 x CoHs

4 % CyHig

Question Number : 129 Question Id : 4387197809 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

How many litres of O; at 273 K and 1 atm pressure can give 20 L of CO in the
followmg reaction?

+C
C+ 0, »C0O, — CO
od tﬁéﬁ?ﬁé 20 L & CO D660 575000 O) 2080050830, 273 K 0803w 1 atm
SHEdo DG Jo?
+C
C+ 0, = CO, — CO
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Options :

| x 40L

Question Number : 130 Question Id : 4387197810 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Combustion of 1 mole graphite releases +2.48 x 10 kJ of energy. What will be the
temperature of a bomb calorimeter. if 1 g of graphite 15 burnt at 298 K. The heat
capacity of the bomb calorimeter 1s 10.35 kKI/K"

1 ¢S TS &0 Girde mAD +2.48 x 10° kI 3§ dcodwoned. 1 g A 298 K

36 2006, erots SEBA0E T[S Jod? ot $5°BLE &1 roe 10.35 kI/K.
Options :

% 298K

, % 296K

300 K

299 K
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Question Number : 131 Question Id : 4387197811 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

: : % s e : : s 2
Cp of a gas 1s 20 T mol™ K™ . If one mole of the gas is cooled from 298K to 258K at
constant pressure, calculate the internal energy change in the system.

(R=8.3 T K ! mol!)
28 Tai0) Cp 20 T mol 'K . 208 285 ros0ip@d 298K Sd0é 258K £ 26 &do
DG BODODVIYEO DD 9030 3§ HrND T oxsodw. (R=8.3 TK mol™)

Options :

o 4687

, % L215KJ

3 % 3457
587 1

4.

Question Number : 132 Question Id : 4387197812 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

100 mL of 0.01 M HCI 1s added to 900 mL H,0O. What is the pH of the resultant
solution?

100 mL & 0.01 M HCI & 900 mL & H,0% s83rcs. E)CSD% @Saresd)) pH doed?

Options :

1.331
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T
-

2. %

Question Number : 133 Question Id : 4387197813 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The conjugate base of H,PO, is

H,PO, G30g) Rooin), =00

Options :

|« HPO;

Question Number : 134 Question Id : 4387197814 Display Question Number
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Ca® + Na,(PO,), = X + yNa~ Identify X

Ca™ + Na,(PO,), > X + yNa~

: Yes Is Question Mandatory : No Calculator : None

X 20 f80ti0a0.

115/137



7/11/22, 9:12 PM
Options :
i 2=
[N( ,Ca( PO, ), ]
1.v

[Ca,(PO,)|™

2. %

. [Va,Ca(POy)]

L [C'.:r; (PO,), ]

Question Number : 135 Question Id : 4387197815 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In which of the following ions are correctly arranged with respect to their mobilities
in aqueous solution?

208 T°8365° B RVLTHE0eS” VO T BVIFVS DT VB 2o &°

wmdﬁmgm ?

Options :

K> Na' > @Cg =1i
1. %

Li >K > Na" > Cs"
2. %

Cst =K > Wa 1
3.
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s -+ + -

Na =K > Cs =11
4. %

Question Number : 136 Question Id : 4387197816 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Observe the following statements

I) Second ionization enthalpy of Be is smaller than lithium
IT) Hydration enthalpy of Mg”" is greater than Be®”

III) Tonic radius of Li™ is greater than Be”

correct statements are

Sobd TR Baudotiolt

I) Be Bo&sd 903rD&END acw%%mo S0l S80S
II) Mg™™ 37600 dordy Be™ got3 de) o

IID) Li” 50308 5 -giso0 Be™ S0 D50,

RO Trarjen DD?

Options :
L II only

| % LII2rgds

IL. III only
, % 1L IIT &gl
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L III only

y o LI argd

4 % LILTI

Question Number : 137 Question Id : 4387197817 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The formula which represents the inorganic benzene is

S0 TS” T TV Sottd 0 YD ﬁf“daée.:r“
Options :
1. ® B3CsHg

7« B3N3Hg

3. % B3N3(OH)g

4. % B3C3Clg

Question Number : 138 Question Id : 4387197818 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The allotrope of carbon formed when hydrocarbons are burnt in limited supply of air
15

TE 576D 00 DBV TrHG” 2ok oD E DEYE E63D Erroddo
Options :
Charcoal

m‘ﬁ“&eﬁ

1. %
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Carbon black

2. ¢

Coke

L x E8

Graphite
4 % T8

Question Number : 139 Question Id : 4387197819 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The number of cyclic 1somers possible for CsHs. with one double bond in the ring 1s

SV wE Bleote L PES (Do) &ﬁ;é&?m C4Hs 0 2y DerHTa0

Options :

1. % 2

7 o3

3. % 4

Question Number : 140 Question Id : 4387197820 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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The product P of the following sequence of reactions is

i (i) KOH (alcohol)/ A

7 .
ch\/—\vCHg (i) O

(i) Zn/HO

Eod 90820 zﬁdé?.}eﬁé DONE &3 D)o P

Br

() KOH (e#0S)n
HgCKA;CHg (i) O3

(i) Zn/H,0O

Options :

YT

l.

3
/\l—";i{j/
4. O

Question Number : 141 Question Id : 4387197821 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

0

If the angle of diffraction (@) is 60° for 9 A wavelength of x-rays. what is the
spacing between two planes of a solid substance for a first order diffraction (n=1)?
(sin 60°=0.8606)

0
9 A 800riBg o (10 x- $ETOR DT ADRRDE D5 E'no (6) 60° 20T GosS"

20066 202 DIGTIS (n=1). Botd Berw J6| AFGo Joed? (sin 60°=0.866)

Options :
L« 524"

, x 2.6A"

; x 3247

4 % 9.0A"

Question Number : 142 Question Id : 4387197822 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

An element crystallizes in a bee lattice of edge length 4A°. If the density of the
. 3 s A . : : 1,
element 1s 10 g cm . what 1s 1ts atomic weight (in g mol )

28 B0POSA0, BoTER) 4A° DAD bee P0Z0S” HE8E6MH0 DodIR. 2T

Frod 10 g cm” o0 o HEAT 260 (g mol '0e5°) dodd?

Options :
1. ® 96

) % 124
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;v 192

4 % 235

Question Number : 143 Question Id : 4387197823 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A sample of drinking water has 15 ppm (by mass) of a carcinogen (molar mass 120 g
-1 : = : : : ; =
mol ). The molality of carcinogen m water sample in mol kg™ 1s

oh DO F[08 5" 15 ppm (er0°e8 SotT) 28 5740 57680 (Arerd GOo°? 120 g
mol ™) &%) &. D T[S &° 5916 5680 20erdd (mol kg 0

Options :

| % 2.50x10™

, % 2.50X10°

3 ¢ 1.25X10°

= -3
4 % 1:25X10

Question Number : 144 Question Id : 4387197824 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Arrange the following solutions in the correct order of their osmotic pressures.

(A) 0.1 M NaCl

(B) 0.1 M Urea

(C) 0.1 M BaCl,

408 TOFOR T BT DG DET© DOPD §200S” G
(A) 0.1 M NaCl

(B) 0.1 M asordasr

(C) 0.1 M BaCl;
Options :
 xB>C>A

,x C>B>A

;0 =A=B
L xA>B>C

Question Number : 145 Question Id : 4387197825 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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AG® value for the following oxidation process is
A AY 430
Given A— A" +e. AG®° =17

A= A7+ 2. AG® =37
S0 53,500 WO AGT Dewsd
Ao AP +3e
QOEICD WOV A— A”+¢e,. AG” =117

AT AT+ 20 AG® =37

Options :
1. ® LI

Question Number : 146 Question Id : 4387197826 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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A— B 15 a first order reaction. What i1s the concentration of the reactant A after
28.8 seconds if the mmtial concentration of A 1z 0.1M and rate constant
k=0.0693 s, (e=2.718)

A— B 038 28 DO $AT0S B6[. A OL0E), oz MES 0.1M. e Doreso k =

0.0693 s es00® 28.8 RS HT(S A C3E) e dodd? (e=2.718)

Options :
0.1
—M

% €

0.1

Question Number : 147 Question Id : 4387197827 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Smoke is an example of which type of colloid?
T (T,8) D 08203 Foné L &miron?

Options :
Sol
| ® TS
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Aerosol
, & DB FS

Foam

0

3. %

Solid Sol

20028 JreS
4. & "

Question Number : 148 Question Id : 4387197828 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Assertion (A) :- Addition of an excess electrolyte to the colloidal solution leads to
the precipitation of colloidal particles

Reason(R) :- The charged electrolyte particles neutralises the oppositely charged
colloidal particles and promotes coagulation of colloidal sols.

DI o (4) : Sgrond moerds i Qcﬁ)@é&é?bﬁ?a& £

Serand S6eD 955080 BotTow.

sedeo (R) - Dma&:(‘%‘:’qtgs SETRD DG DT &) EFYrand STy BWRDBBA,
e @ = @

Eerowd FrSy U D) oBT) JTEITFODIOW.

Options :
Both (A) and (R) are correct and (R) 1s the correct explanation of (A).

| o A0 R e RO S0dodn A SO R B0 D86
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Both (A) and (R) are correct and (R) 1s not the correct explanation of (A).
L x A 208050 R a0 Do 208050 A R 25000 D96 S

{A) 1s correct but (R) 1s mncorrect

ARG 570 R 200008 5°¢0

(A) is incorrect but (R) is correct

A DTo0AR 573 53 R 2000,

Question Number : 149 Question Id : 4387197829 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

From the given list of metals, 1dentify the number of metals which do not dissolve 1n
concentrated nitric acid are Cu, Al. Zn. Ni. Fe

So0) RDECED S0 DT Ao, ME VS B0 S SO Doy

(Botdoct. Cu. Al Zn. Ni. Fe

Options :

% 2

Question Number : 150 Question Id : 4387197830 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

When NaCl and NaNO; separately reacted with H,SO,. the products formed
respectively. are

H,S0, 0 NaCl &08cdn NaNO; & D60 Sdorr 53§ 2ODIY E)d:){ie'\ﬁ égmjraepmgm

SCORTT
Options :

|« HCLN:0;

HC1, HNO,
2. #
, » HOCL HNO;

HCL, HNO;
4.9

Question Number : 151 Question Id : 4387197831 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The oxidation state of Fe in ferrate 101 15

28¢5 &° Fe e3886¢ 28

Options :
w2

2. % 13

3 % +3
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4.9 %0

Question Number : 152 Question Id : 4387197832 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Regarding magnetic properties of the complexes Ni(C0O),[I]. NiCl; [II]

Which of the following are correct?

Ni(€C0),[I]. Socdw NiCli™ [II] RoFTY O o GO°LO Vowodo) Sod

T¢385° DB DVoRAE?
Options :
[=Diamagnetic

I= adr e.acma%oej
1.

I=Paramagnetic

[= HT° e9030ar) o
2. g

I=Diamagnetic

I=¢asr e:m:i_)é“boe‘_’@
S

I=Paramagnetic

= 20" 9087 o
4. % 3

Question Number : 153 Question Id : 4387197833 Display Question Number : Yes Is Question Mandatory : No Calculator : None

[I=Paramagnetic

[I=Hoe @&535“&@-2‘.’9

IT= Paramagnetic

= Hoe e&oﬁ:fr“ajcej

[I=Diamagnetic

II=¢.oir e_eram,ﬁ%u@

[I=Diamagnetic

[I=cosr escfua%o@
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Fructose 1s an example of which type of sugar?
D S5 SH6% $ES of aite ?
Options :

Ketohexose

& oB= ] 5
| & SE u.rr""gu_'_;-...-

Aldohexose

) % o arEhE

Ketopentose

. Sfmosts

Aldopentose

'EE_';E_EZ ot e

Question Number : 154 Question Id : 4387197834 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Identify the basic amino acid from the following
$06 T8 36 JPOS D) AdBotBL

Options :

Arginine

Lo U320
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Glyeine
D

icho |

2. ®

Alanine

QODD
3. %

Serine

20D
23 [

Question Number : 155 Question Id : 4387197835 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Identify the major product formed when 3- Bromo- 2- cyclohexene is treated with
alcoholic KOH

3— FEr — 2- 2855 w08 KOH & 88 «0bshd W98 Bed Bdraam®
hGoiod?
Options :

P
e
-

[

L& 7
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Question Number : 156 Question Id : 4387197836 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The major product P from the followmg reaction is

Bob $5:6%9 (55es Boraiio ‘P 282

o

Br
=4 | ~ MesCONa
N = P
Br
Options :
O(CHaja

[" | Br
) ® X ‘x_f"'DH
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OH

OH
4. %

Question Number : 157 Question Id : 4387197837 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which among the following will have the highest boiling point ?

208 TES° BIS OB(AS LT BOD FDo Sotod?

Options :
OH

A

O

i

1. v

2. %

3 23 'ff.h‘x“\f"j..
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i 0 TN

Question Number : 158 Question Id : 4387197838 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Identify the major product formed when 4-methyl phenol is treated with Chloroform
in presence of NaOH

NaOH 208085 4- BS D & EFICod D6 ROJIYE VONE DEFD
SairaT(D) Wioted.
Options :
ONa
| o
CHO
.®  CHs

s

O

) % H3C>\CHD

QCHD
3 #% HO #
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Question Number : 159 Question Id : 4387197839 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Find the strongest carboxylic acid from the following

ot THS° OABE LUDD 507808 e S8 od

Options :

ClLCCOOH
F:CCOOH
o

3.3

Br;COOH

Question Number : 160 Question Id : 4387197840 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Identify the products P and Q of the following reaction

S0l w55 P 2080500 Q VR0 Botied..

MNH>

e

i

Options :

HNO4, H,S0,

286 K

NH,

NO,

NH5

~=

NO,

NH>

NO>

P +Q +R

<y
(Major, BF°
NH,
- ¢
.
NO,

NH,
NO;
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NH; NH;
05N NO, i N
P=
=
L NO, NO,
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